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SRR 1TA9H 1 B BRI~ 26,891 12,371 14,520
18 I 26,754 12,292 14,462
19 I 26,520 12,187 14,333
20 l 26,188 12,031 14,157
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22 Il 25,880 11,925 13,955
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6. FEEPTRIA HEA 2K

B 2 X B = At B B 'S
1 | K e /N ¥ 5 2,770 1,292 1,478
2 M = Hh 2 59 1,769 833 936
3 |4k st Hh £ 59 1,270 589 681
4 | B Wit + N b — 556 243 313
SR 5 A | v T ORI SR 322 148 174
6 |MR = /N 2 59 2,365 1,091 1,274
7 |IH + I 74N £ 59 72 33 39
8 | e 7N 2 59 279 122 157
9 BEARHAHBRENE 2 ¥ — 2,318 1,046 1,272
o (& K #H M = S Y 966 453 513
11 |F H my N B fiE 2,737 1,252 1,485
2 % % #H 4 £ &K — A 1,025 481 544
13 | B X kb v v x — 2,455 1,155 1,300
“ BB £ W v v x - 1,427 664 763
15 |f sk # owW, N B A 2,712 1,228 1,484
w6 PiomE o2 wm v v x - 989 426 563
7 P4 2w v o x - 1,280 590 690
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2 25,880 11,925 13,955
R SEE R B2 CER224R9 A 2 H B 6k)
7. NEREREO WS, WEE, RER
[WH X BEARBHE®RE]
v @ . H FE = e = = e = =
B ik | B | & | F S
SRR 17 4E 11 A 13 B 26,657 12,253 14,404 21,251 9,403 11,848  79.72% 76.74% 82.25%
Rk 21 46 11 A 8 H| 25,788 11,835 13,953 20,402 9,081 11,321 79.11% 76.73% 81.14%
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